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TOZR IUIAZ—bh=JvD VB(ZXV.ZXW150.
5.300.375) i 1) 150,700
%-}28_010)?)1/9'-71 hV DUE—X(ZMBO0O0. ZLBOO. 18 150,700/
TUZ2 TF3I— VB Simplicity(DFROOV) 108 198,000H
TUOZZ FI— TVB Simplicity(DFW150~375) 5] 220,000
TUZ2R ATYEA VB Simplicity(DNROQOV) 5] 222,200H
TUZZ AT vEA TVB Simplicity(DRT150~375) ] 242,000H
7L 77'J‘J718 Pan8ptix iyg‘)bat’_"—l(;'FleT 1] 189,200H
73 F7oUVTIQ PanOptix =Uvo 227)
t“l—Z(TFl;Ig'éo~60) . tasee 1E 211,200M
Clareon KmPanOptix ~JTA—HIV KK 72
'Jfbﬁﬁ‘(ml/‘;é‘k(CNW‘l‘rO) - 1)  198,0001
Clareon @PanOptlx TORIC KJT#—7IL B
utonoMeTM?f I~7"'JD RFJN)— JZTL\(CNAET 1@ 250,800
blGICUIIII"I T armrogpuxXTIvr T 7 J7V RAKPIV”
AutonoMeTM?f ~FUo— |‘TU/\U DRT I(CNAT 1E 250,800M
ClareonTM PanOptixTM TORIC ~JZJ#—AJL BB
AL YX AutonoMeTM #—rUO—RFUNJ—=IR 1E 272,800
T (CNATT2~T6)
Vivinex JTXRJYI(XY1=G) 10 198,000H
Vivinex JIXRJYY r—UJvI(XY1-GT2~6) 10 217,800
21. A9 OKL IR
—F UV- 4 16,500
=R UV-T1(NBZART) 18 5,500
—F UV-1(5E% q 20,900
J—R Z—/{—Hi-02(E@&@) 18 22,0000
J—F Z—/\—Hi-02 (&%) q 26,400
J—F S-1(EE) 18 22,000
—F S-1CR%R) 4 26,400H
=R JINFIA—HIO2 18 26,400
J—F JNFIA+—hI02 HFAT 4 26,400
J—R Z—/\—=Hi-02 KC1 q 25,300
—F 2—/{—Hi-02 KC2 q 25,300
I—R AV IR 4 27,5000
J—kK 3—-YJk q 44,000
>—F 1dayPure338L\WI52R 32 :,6301
—R 1dayPure YIVFRT—Y 328 4,400
>—bk 1dayPure EDOF 321 4,400H
JEJVJIJ‘JEJVJ Ea— T4k 308 4,620
JEIJ‘/J Eai— E14Zb 901X 11,880H
N E1— ko)l—7 301 5,720
N Eai— kw)l—7 908 14,690
:)'EID‘J‘JID oY Ei—A7IR 30% 5,170H
I3 ITIIRIIIIY Ei— A7 908 13,270H
JIVIITIIRIIIIY Ei—A7IR 301 6,380
Ja N IIIURIIOVY E1—A7IR
MAX Q0H/ ¥y 904 17,1603
JaVVJIIVRIIVVY DUTF—T7F1E1— A7V
MAX ZILFTA—HI 30 7,920
I3 IIURIIIVIY JUT=T7F1E1— £SEIS 308 4,840
I3V ITIIRIIIVY DUF—7FabEa1— EAREFEL 301 5,610H
Mma10L XFURRIVFIA—hIV 61 6,380
RYa0L XFYRNTLEPRIVFIA—HIV q 6,380
L1oik— L= 18 30,800
LAoih—= 2207400 —) q 38,500H
LAVih= 220 TAIL =)V PTAVR 4 25,300
TAZE— N—RIN\Ar=UvD 4 33,000H
X=J> O—ZXK2 18 33,550
O—I\—= TJODITPIIT—=IVFIA—HI 301 4,730
ZIWVAY TAIV=ZXFPIF7 301 3,500
PV TAV=Z7o7 INJa—/tvy2(90) 901 7,000
PIVAY TAV=ZRPOF7 AV IA—=bTZRZ b=JvJ 301 4,490
PV TAV—RFOF AV ITA—bTSZ IINFIA—H 30 4,840
7V TA)—=Z—=F)LT230 308 4,430H
7V TA)=Z=5)LT290 901 13,090H
7V TA)—=X—=F VI VEAER 308 5,010H
TPV TA)=ZA=F)TzamA30 301 5,190H
TPV TA)=Zb=5)V I EEEA90 901 14,850
7V FLI329230 308 3,160H
7Y T390 901% 9,020H
7Y FLII3VDUEBR 301 3,480
PV IPATTADRAHG 61 3,250
PV IPATTA IR EXFPIF7 3K 4,590
TPIVAY IPATT1DR EX PO7 BER 3 4,590H
YOI RAIUR q 25,4100
HOAVYIE RAVRT ih—T 4 30,250
BT AV YAIRIV q 31,460H
HOAVYIE AR T YAIRIV LVCILT 4 39,9300
YOOI MR T TLA—TIA4T q 30,800H
Y2350 J1IVRE 18 25,300
H2IV59 0k JMIVREp(TEL U FIS5—)b) q 25,300
YAV 5 DL RAIVREpi iA—T 18 30,800
YA R1VRERI YAURIL 4 30,800H
YOOI IE RMIVRIN=L4 18 25,300
LIZXO)—==0T X 1,100
2. sRIOPEA R _ _
DI 5] 3,300H[/4> T > MBS
E; Jr(?ﬂ]{ UD,E ) 108 1,100H
58 1m0 11,000
27‘)%& O‘sfi‘( 1[5 22,0000
27U 5‘@?%‘6 5] 33,000H
27_-3 ML 208E T 1[5 44,000
a9 ] 1,100H
X@ﬁ_ﬁ/\/v?(?ﬂ i) 106 6,600
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